
How to Win a War Comprehension Answers
1. Give two alternative names for D Day. 

D Day is also referred to as the Normandy Landings, Operation Neptune and the overarching 
Operation Overlord.

2. What exactly was D Day? 
D Day was the day the Allies invaded the beaches of northern France at Normandy. Huge numbers 
of Allied troops were sent across the channel to fight against the Nazis, eventually pushing the 
Germans out of France. It occurred on June 6th, 1944.

3. List three reasons for the weather being important during the D Day operations. 
Strategists agreed that the tide had to be as high as possible (at dawn). This meant a full moon 
was best. Calm seas were necessary, so no storms could occur. The skies needed to be as clear and 
well-lit throughout the night as possible for the Allied aircraft.

4. Why did the Allies think they might have to delay the Normandy landings? 
The weather predicted for June 5th was not good. June 6th looked much better and so the Allies 
decided to proceed on this day.

5. Why did the weather play a part in the Battle of Agincourt? 
It had rained constantly for 2 weeks, making the field of battle very muddy. The French had very 
heavy armour which made wading through the mud almost impossible.

6. Why did the Spanish try to attack England in 1588? 
They wanted to overthrow Queen Elizabeth I and put a Catholic monarch on the throne of 
England.

7. What were the ‘Protestant Winds’? 
The storms from the Atlantic that caused the Spanish fleet to sink and be dashed against the 
shore of Ireland.

8. What is a kamikaze? What is the word most associated with today? 
A ‘divine wind’. This was first the name given to the typhoons that sprang up when Kublai Khan 
tried to invade Japan. Later the word was used to describe those pilots who sacrificed themselves 
by hurling their planes into Allied war ships.

9. Give two reasons Napoleon’s forces suffered defeat in Russia. 
Napoleon’s troops were ill equipped for the winter, their uniforms were not thick enough. The 
Russians had burned everything as they left their villages, leaving the French with little food. The 
weather became colder and colder.

10. Why did the German forces have to retreat from Russia? 
The Germans were ill prepared for the harsh conditions of a Russian winter. The temperatures 
plummeted to -50 Celsius and the troops had no winter clothing. The Panzer tanks were not built 
for such cold weather.


